== REGULATORS & ACCESSORIES - =i

1 stockang ready for

T immegj q
a"an t'n @ Single Stage Regulators @ Pigtails & Hogtails 2t¢ shipmeny

PART # INLET / OUTLET PRESS. BTU QTY PART # SIZE INLET / OUTLET QTY

N /NDUSTRIES, INC. 230-GR800 1/4” x 3/8” 11" WC | 140K 912FS20 20 | POL x 1/4” Inverted Flare
230-GR856 | 1/4°x3/8” 140K 912JS12 12> |POLx1/4” MPT
230-GR866 1/4”x3/8” 140K 912J520 20” POL x 1/4”> MPT

Maxitrol 912PA20 20" |POLx POL 1-1/8” Hex Nut
325-3L 1/2°x1/2° 250K
ool OV SOk 912PA48 48: POL x POL 1-1/8” Hex Nut
G Twin Stage Regulators o12PS12 12 POL xPOL
290-GR9950 | 1/4” x 3/8” 160K 912PS36 36" | POLxPOL
299-GR9959 | 1/4” x 3/8” 160K 912PS48 48" |POLxPOL
[Va04B3a T x 12 250K D912J12 12> | M.NPT x M.POL Dielectric
LV404B34V9 1/4” x1/2” 450K D912]J20 20” M.NPT x M.POL Dielectric
V404839 POLx 1/2” 250K D912P12 127 | M.POL x M.POL Dielectric
[V404B39V9 | POLx 1/2” 250K D912P20 20" [ M.POL x M.POL Dielectric
: [Va04Ba T x 12 525K 913PS12 12> |POLxPOL 3/8” Tube
First Stage Regulator LV404B46 1/4” x 3/4” 525K Wil
PART # INLET / OUTLET BTU  QTY LV404B9 POLx 1/2 525K PI912pS48  |48" |M.POLxMPOL

LV3403TR 1/4”x1/2” 1.5M LV404B96 POL x 3/4” 525K PT912]520 20" | 1/4”MxMPOL

LV3403TRVY | 1/4”x 1/2” L5M LV404Y39  [POLx1/2” - 2PsI 650K PT9I12FS20  [20" | 1/47IFx M.POL

LV4403TR9 | POLx 1/2” 2.5M G Automatic Changeover Regulators Additional Items Not Listed

9 Second Stage Regulator 254-GR9984 1/4” x 3/8” Inverted Flare 130K

PART # INLET / OUTLET — QrY 7525B34 1/4” x 1/2” Inverted Flare 400K

1V3403B4 12" x 1/2” 450K 7525B4 1/4” x 1/2” Inverted Flare 425K

LV3403B46R | 1/2” x 3/4” - Rear Mount | 450K Tee Blocks

LV4403B4 1/2x1/2 935K PART # INLET/OUILEL QLY

LV4403B46 | 1/2"x 3/4” 935K 1450E 1/4” INV FL x 1/47

LV4403B46R | 1/2” x 3/4” - Rear Mount | 935K MSCP-1701B | 7/8” Hex Nut

LV4403B66 | 3/4” x 3/47 935K 17028 1-1/8” Hex Nut

LV4403B66R | 3/4” x 3/4” - Rear Mount | 935K

LV4403B66RA | 3/4” x 3/4” - Side Mount | 935K FAX EXPRESS ORDER FORM

2PSI Regulators Company Name: Date: PO:
PART # INLET / OUTLET BTU  QTY

LV404Y9 POL x 1/2” 800K Ordered By: Phone:

LV4403Y4 1/2”x1/2” M City/State: Send Acknowledgement to: Emailor Fay

LV4405Y46R | 1/2”x3/47 - Rear Mount | 1M Fax to: AL: 877.769.1222 | FL: 904.692.1068 | NH: 603.679.4605 | NJ: 732.780.5173 | PA: 717.361.0370 | VA: 804.279.0206

12/2016




